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WIH :20208E8 H 150 (+)~8H16H (H) S ARG A 7 ) —7 (50m)

No.3 ZF 100m Bk = BA L L—R R £ 1:02.66

BfL. K 4 i B 2E KK = 50m
1 BR Z R H = 5/ 3 1:03. 89 30.92  10#% ( 0.62)
2 UK LA =il =3 5/ 4 1:04. 66 30.91  9f%k ( 0.51)
3 HARD D M =l =3 5/ 5 1:05.12 31.55  9#k ( 0.55)
4 B AR 5 Fr K Hi 3 5/ 2 1:05. 71 31.78  9#% ( 0.65)
5 B BE BRPER =] il 5/ 7 1:06. 15 32.08 9%k ( 0.60)
6 {FrELHE % FE L 222 =3 5/ 6 1:06. 47 3.79  9%% ( 0.60)
7 BRI RfE H R R =l 5/ 1 1:07.29 32.68  8#% ( 0.57)
8 Ky i H R HR = 4/ 2 1:08. 34 32.21  8#% ( 0.60)
9 fili &7 KIF =3 4/ 6 1:09. 63 33.10  7#% ( 0.60)
10 S ARG E L 2= 53 5/ 8 1:10. 60 33.28  T#k ( 0.54)
11 (L H IR 5% Fr K Eiifl =3 4/ 1 1:10. 64 33.56  T#k ( 0.60)
12 AN HETR = L RA4E =2 3/ 4 1:10. 86 33.70  T#k ( 0.57)
13 HFI K =T R4E i3 3/ 8 1:11.51 34.16  6f% ( 0.63)
14 7EAF EBR T PE R =] =8| 4/ 5 1:11.68 33.76  T#k ( 0.54)
15 &m il = T RA & =11 4/ 8 1:11.76 3.7 Tk ( 0.64)
16 EH @& FNEFE =3 3/ 1 1:12.05 34.29  6fk ( 0.64)
17 FIl AL [iiz)2 =3 3/ 7 1:12.12 34.41  6#% ( 0.63)
18 )1 A & B 2 2/ 4 1:12. 71 34.88  6f% ( 0.63)
19 il Jh4%y [iZE =3 52 2/ 6 1:13. 21 35.32  6f%k ( 0.65)
20 AR FER & H 52 3/ 2 1:14.07 35.13  6#% ( 0.60)
21 HH EE 2 ONE =2 4/ 7 1:14. 83 35.31  5#%k ( 0.65)
22 KEHBE W =2 2/ 2 1:14.97 35.96 5% ( 0.59)
23 i W [ef] I AL 3 2/ 5 1:15.20 35.31 5%k ( 0.66)
24 iR E A A ONI 2 2/ 1 1:15.38 36.20  5#k ( 0.64)
25 i & EA o =1 1/ 3 1:15.53 36.37  5#k ( 0.62)
26 g5 HE [ I =) 2/ 8 1:15.59 35.54  5ffk ( 0.73)
27 AR IHE [ef] I AL =3 2/ 3 1:15.92 35.56 4% ( 0.59)
28 fikl FAE ZHT B2 1/ 4 1:16.10 36.18 5%k ( 0.61)
29 Y HEL % - HAEAERS &2 3/ 5 1:16.18 36.13  5#% ( 0.63)
30 M SEE PNE| = 1/ 5 1:16. 46 36.46  5fk ( 0.62)
31 feH B/ T = 2/ T 1:16. 48 36.36 5% ( 0.59)
32 Ky 2 SPAY N 17 = 3/ 3 1:17.06 36. 13 4%k ( 0.64)
33 MEOXD [licpE: =R 1/ 2 1:20. 07 35.72 3fk ( 0.57)
34 K =¥ [liz)E=y7 =3 3/ 6 1:21.35 38.15  2#% ( 0.70)
35 WAL LD FE L2l = 1/ 1 1:22. 31 38.47 2%k ( 0.60)
36 g ERE§ A =3 1/ 7 1:22.57 39.20  1#% ( 0.66)
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